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Instructions:
1. Attempt all questions.
Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.
English version is Authentic

o

Q.1 (a) Explain various primitive and non-primitive data structures with example.
(b) (i) Convert following algebraic expression into reverse polish notation:
(a) (a*b+c)+(d*e/b) (b) (at+(b*c-(m/n$p)*t)*s
(i1) Write application of stack.
Q.2 (a) Whatis stack ? write an algorithm for PUSH and POP operation of stack.
(b) (i) Explain column-major order array with example.
(i1) Write characteristics of array.
OR
(b) Compare circular queue with normal queue, write an algorithm for PUSH
operation of circular queue.

Q.3
(@) What is an ordered Linked List? Write an algorithm to insert new node into an
ordered Linked List.
(b) Write an algorithm to count number of nodes in a singly Linked List.

OR
Q.3 (a) Write a program in ¢/c++ to perform following operations for singly Linked
List, (1) Insert new node at first (2) insert new node at end
(3) Insert new node at specific location.
(b) (i) Explain priority queue.
(i1) Explain recursion with their types.
Q.4 (a) Whatis searching ? Write an algorithm for Binary search method.
(b) (i) What is Radix sort ? Give the trace out for following data using radix sort.
802,9002,887,202,15.
(i1) Write short-note on Hash table.
OR
Q.4 (a) Write an algorithm for simple merge sort.
(b) (i) write an algorithm for find length of string.
(i1) Explain collision resolution technique.
Q.5
(@) What is tree traversal ? what are different methods of tree traversal? Write an
algorithm for PREORDER traversal.
(b) (i)Define following :
(a) M-array tree (b)complete binary tree (c) weighted graph (d)Directed graph
(i1) Write short-note on : Application of trees.
OR
Q.5 (a) (i) Write an algorithm for concate two string.
(i1) write an algorithm for compare two string.
(b) Write a program in c/c++ to sort N numbers in ascending order using bubble

sort method.
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